58 AL FANA Aurst&=s FurtEx (p. 972)

[absolute and relative acceleration in plane motion]

2185 ( ) + 3 AEE )
A4 7% o
aa aa A SR o
= +
ap
aa (ap/a
ap = aa + apa = aa + (@pa + (apah, (ap/a); = , (apa =
oA A 56 °]FFH v (p. 975)

ol.(dsF 5.111)
WA E 75 mme] ¥{E] ol THAY Fo] os) =AFHd. ¥
mm/se] 3, 7FEE7E 912 480 mm/sPelth (a) CH Y 74 %, (b) DA
r=007m ve=03m/s?t, ag= 048 m/s’!

(p. 981)
o] & EollA £=7F 9= 300
o 7M&xE Fateh

y ac=?, aD:?
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= o= = (030 m/$)/2(0.075 m/s) = 2.0 (rad/s) 4
ac = ag * acc = ag T + (o< = a;/ 'a\ E
<A (ach = ro” = (0.075 m)(2.0 rad/s)* = 0.30 m/s”
ac = 04871 + 030 m/s” = 0.566 m/s™\58°
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(b) aa = ag + aac = ar— =
TAE; 0=ac - ra @ D
DO+@ =  ag = =  ag = ag/2 = (048 m/s)/2 = 0.24 m/s”
D-@ = ag = = o = ap/2r = (048 m/s")/2(0.075 m) = 3.2 rad/s’
ap = ag + apgG = = ra— + (ag + ro’) !

(0.075 m)(3.2 rad/s?) — + [0.24 m/s” + (0.075 m)(2.0 rad/s)’]—
024 — + 0541 m/s® = 0591 m/s>/66°=
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(2) 4 A B/l FAARE w2 H9-
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d . (A5 5.118) (p. 982)
9l AB+ 16 rad/s9 €A A4EER2 QiAW R =31 k. 4 = 90° 1 &1, (a) Z¥ D

o] %
o 71&%, (b) =) BDY 3 GO 7H&wg ot
wap = 16 rad/s?, QaAB ~ 0, ap — ?, ag = ? <aD D

AB =006 m, BD=020m, g = sin'(0.12-0.06)/0.20 = 17.46° 2
(ap)y = = (0.06 m)(16 rad/s)* = 15.36 m/s’ (an); G

(ap)t = B
(a) vp = Vg + VD/B (apn
vp— = vg— + (BD)ogpp\. = @A
ap = ag * apm A
ap— = [(ap)e—+(ap) L ] + [(BD)app™\ + (BD)aopn’/]
JAE 0 =
2
=  app = (B(DU;]Bc)c)gﬁ ) (0.2((1)113)6(;;2{?26“ = 805 rad/s’
—AE; ap = =0 + (0.20 m)(80.5 rad/s”)sin17.46°= 4.83 m/s”
ap =

(b) ag = ag + agm =
= [0 + 1536 m/s* | 1 + [(0.10 m)(80.5 rad/s)™ + 0 ]
= 1536 + 805 (sinl7.46°< + cosl7.46° 1) m/s”
= 242 «— + 768 m/s® = 8.05 m/s°/72.5°=

59 iA¥sE Jvetd HHL 59 A [analysis of plane motion in terms of a parameter]
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5.10 3 A EA o B3 A o] HEE [rate of change of a vector w.rt. a rotating frame] (p. 987)
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5.11 3 AFEA A st @Al FHLE [plane motion of a particle relative to a rotating frame]

FZ8 &8 714 % [Coriolis acceleration] (p. 989)
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(Foxy ¢ ZFEA Oxyol thet 24 PO HdiExe =
Qxr I AAZACGIA S AP £ =
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&R (=
ap = Vp = %(QXI‘) + é%(f)oxv
= [Qxr + Q@x(Foxy] + [@x(Foxy + (Foxy] — (Q)OXYZ = QxQ + (Q)()xyz
= 2xr + Qx[Qx1 + (og] + [QxEoxy + Fox]
= Q51+ QX(QxT) + 2Qx(Foxy + (Floxy
Hoxy  HFA Oxyol th3t A3 Pl A& x =
Qxr B AZFAEA] AP & FALE =
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sege HEEE
ap = apr t ap + acor oAl 510 Geneva mechanism (p. 993)
o (A% 5.160) (p. 997

)
Q]
=

a9ge] BHoAE £7te] B ABO Zol: 0.18 m/sY dAE HEE FolE1 il 0.08 rad/s9

Ak 7hEER dolxa Tt (a) BHE &%, (b) BHY 7M=& T8k
VB/F — 0.18 m/S./, aB/F — 0, % B
o = 0.08 rad/sf, a =0, r =54 m/, Vol s Vir
v = ?,ag = ? 30°
(@) vy = oxr = = 0.432 m/s\60° ¢ .
Ve = var v = [0.18 m/s730°] + [0.432 m/sS.60°] v & N0
{ [(0.18)+(0.432)%1"% = 0468, B = tan (0.18/0.432) = 22.6°)
= 0468 m/sN\82.6° = Vi
(b) ap = axr + oxvy = = 0.03456 m/s>730° Acorr L VP
Acor = 20XV = = 0.0288 m/s*\60° ap \
ag = apfF * ap’ * acor ~
= 0 + (0.03456 m/s%730°) + (0.0288 m/s”\60°) 30°

. 01/ a
{ [(0.03456)%+(0.0288)212 = 0.045, ~ = tan '(0.0288/0.03456) = 39.8°)
= 0.045 m/s™\9.8°



